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COMMERCE
| (Honours Core/ Regtilar) |
* Paper : COM—~HC-4016/COM-RC-4026
e ( Cost Aécbunting )
Full Marks : 80
Time : Three hblirs
The figitre"s’ in thé mdrgiﬁ indicate ',
Jull marks for the questions.
i | Answefeit_her i;n-Eriglish .br in A;ssamese.‘

1. Answer the followmg as dlrected
| - 1x10=10

WTWW%’\’NO

(a} Cost accountmg is a method of

cost.
- (Fill in the blank with appropnate word)

'@memﬁqu@a I
«ﬂﬁ%‘fll (@‘W—W?/ﬁﬁﬁﬁqw)
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___ costisan irrecoverable cost.

(k) A_
(Fill in thc blank with appropnate word)

R 0% < TmiR B R 5 |
(wmeﬁmwmmv

(c) Indirect labour is treated as part of

AT & 'amﬂm
i ﬁmshed goods
. (ii) work-in-progress
g A g AT
(i) factOry \oVer‘head
'-WWWW%W
(iv) product |

| (Select the correct answer)

(Cif5 Geco! AR Gl ed)

| (d)' Mat'erial 1s the ﬁrSt element of cost.
| ‘{State whether the statement is true or
- false) | :
‘%WN@®WWMNWW
i | @@%ﬁﬁ@ﬁﬁw
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(e) ~_ _method of valuing material
- issues is suitable in the times of falling

prlce

(Fill in the blank wlth appropriate word)
T ZPR TS TS A T

fifer wifow w1 . |
TR (ﬁﬂﬁ@‘wwﬁ?ﬁﬁww)

) ' Bin card is a part of at:counting record.

(State whether the statement is true or -

false)
"~ Bin card 5z 2ot WF'CG—N? <ol Ol |
' (Gfeeh! 7%y (7 wPTey [eTdll)

(g9 Which of the following is not a part of
time-keeping ?

'Tﬁm mﬂﬁimaﬁm‘ xﬂﬁ%ﬁm?
(z) Punch card .
NI 120 I B
(ii). Job card -
(iii) Atlten'dance register' |
- R
(iv) None of the above

@ﬂ@T— qGhe T

(Select the correct answer)

(3o GeFeo! MR ClTs)
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Depreciation is a semi-variable

(Y

expense.
(State whether the statement is true or

false)
R (2R m—wﬁmﬁ'ﬂ 45 |
(Sl 9 T o)
U] | What is process costing ?
affera Bestm 8 Rt M B
cost accountmg ' :

@@mwﬁm@q— wﬂfﬁawawml

2. Answer the following questions 1 2%5=10

Wfﬁmmhm

- (a) What is the concept of cost?
Tt 9 4i=ell It e g |

(b) State the meamng of moUon studx in
labour costlng

G RptoReers aif sk e S
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(c) State two important featurc‘s of process

costmg

wﬁﬂT@&mWTmﬂﬁﬁvﬁﬁﬁﬁﬁﬁ’Fﬁﬁ%ﬁmﬁﬁ
T

(d) What is operating costing?
mavrmﬂiiﬁﬂﬁaﬁaﬁkaf%ﬁﬁmﬂ?'

 (e) Name from the followmg the method of

costing and cost unit for :

'-'TW‘ﬁ?ﬁﬁRmﬁfﬁﬁaiﬁlﬁ$ﬁ?ﬁﬁtﬂ%fLGW$
.achﬁﬁiimf&§Mﬂ@ﬂ

(i) | Aircraft (&)
" (_ii) " Transport RISES)

3. Answer any four of the following questlons :
4 . - 5x4=20

TWWWW s e

(@) Mentlon five objectlvejs_,of cost

accounting.

@meaaﬁﬁ%mﬂ$@Wﬂﬁszﬂﬁ?f&ﬁ?n@mﬁa
¢a|
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(b) A consignment of sugar was received
by Murli Brothers. The invoice reveg)s
the following data :

St Qs (BRI A1S G4 Bt iz
Sl wd RRITRIEA ©o ) SAPTIZ 2| 77 -

Quantity (Af)  600kg
Rate per kg.(ﬁf\\'? freven® 1) 325

GST (74 S (il 2<) @ 12%
Freight (ISITS ¥F/) - 2,130

After receiving the consignment, it was
noticed that there is a shortage of
"300kgs. What stock rate would you
adopt for the product assuming a
provision of 5% towards further
deterioration ? |

BIETI 2l T Fime 300 kg &= AGH (=i
TH| 5% TioRe SRl @[l 3 4R &
QYT TGO A4 7S vl IR o qwe

(c)  What is ‘payment by result’ method of
labour remuneration ? Mention two

advantages and two disadvantages of
this system. 1+(2+2)=5

W TGR AwfST FerEs @iesl ~Rody’ WE

Jole @R IGT gh R e gl SPYRd
T | @
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(d) The following data pertain to a material

=3 Al I
weTs il SAPTE ANED) T TS TS ¢
Supply period . 4 to 8 months
Q@A TR 4 %[ 8 WY
Consumption Rate
(oled 9 |
Maximum : 1200 units per month
T : 1200 (41 &fe TS
Minimum =~ - : 600 units per month
el - 600 (olff o wEw
“Normal © 900 units per month
Tofe ;900 eib A wEe -
Yearly -~ : 10800 units :
R 10800 (1

Storagé ‘costs. are. 50% of sfock value
W ©IT! X6 TGS 21 TR 50%

- Ordering costs are ¥ 400 per .ordér
TG AW AUl TS 400 TR
Price per unit of material 2 100
Y TR WS A4S (3I5e 100 T

Compute the minimum stock level.

TV S AU T ol 44
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(e) Explain the five reasons of abnorma]
idle time of labour cost.

g R SFATSIR e TR AT I ey

41
How 1S abﬁorm‘ail gainrcalculated and

(ﬂ - .
treated in process costing ? .

ﬁwmiﬂﬁfiﬂﬁmvw@?

4. Answer any foui‘ of the following questions :
- 10x4=40

| (a) What are the various costs classified
under functional classification’? Give
~ a brief description of each of these

costs. e 1l
Rt m%@w’a e 4 Rieq Teoiw
IR ENReETTE & & 2 20 AfSTe! TesE

S 5 90 e |

(b) . Assam Manufacturing Company use€s
copper wire which is purchased
from the- market as and when
necessary. Following purchases and
issues were made during the month of
‘January, 2023 :
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SBTS (AT FEI (B SR O -2
TfRifee | woTe fral @ @i [ife 2023, GREE)

VR ¢
January 1 : Opening balance 300 kgs at
R 50/ kg
Tsid 1z 300kg &S @E@ 50 T

January 3 : Purchased 500 kgs at 52/ kg
@ 500 kg, &S oo 52 WT

January 7 ‘ Issued 220 kgs
ffer 220 crer

January 11 : Issued 440 kgs
| ffe1.440 e .
‘January 18 : 'Pu'rchased 490 kgs at 46/ kg
& 490 (fer, oS C<7>/L97\9 46 Al

January 24 : Issued 300 kgs
= | e 300 cfer

‘January 28 : Surplus 20 kgs returned to store
- ‘out of quantlty 1ssued on 7th

January
SIS 7 ©ifRed & = IR @
20 (e wmiNGe PR

Prepare Stores Ledger ‘Account for the
above transaction according to FIFO
method of pricing issue. of materials.
SAG (FNMAEIRE 2}/ FIFO A%o® #/41wd)
o9 737 oviw SRR 25 ows |
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el

-

() During the first week of January 2023,

the workman Mr. Santosh produces

150 articles. He received wages

for a guaranteed 48 hours a week

@ T 50 pe

produce one ar

under incentive scheme the allowed is

r hour. The estimated time to

ticle is 20 minutes and

1ncreased by 20% Calculate h1s gross

wages accordmg to—
- ‘(i)' | Piece :VAVOI‘kS 'Wifh guaranteed
weekly Wages;
(il') Rowan pre'mium bonus plan ;
| (iii) Halsey prem1um bonus plan.

2023 WWWmﬁw@i’ﬁr ANCOIT
WWGT@W.,ISOWI@]@QWWWl
C\?\'s a5l AT 48 TGS &fS B !50 Ealkd
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SR o | @Bl Wy Beslin iEEta S
s 20 fFG s Gyl wivke 20%
gfn 2 SRl il 2 | (967 §2 YA TE9
frl Sifs SrERn s w9l—
() SR wi weice RS AiiEs TG
(i) W el SIS <R (Rowan
" Premium Bonus Plan)

- (i) 205 @ik T Sl (Halsey

Premum Bonus Plan)

_(d)' Explain “under-absorption’ and ‘over-
aﬁs_éfption’ of overheads. What are the
causes for under and over-absorption
of overheads? : | (2+2)+6=10
Goifes T TE Gl i WRRE (<N

| offe o e R R
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(e) A firm of building contractors began tq
trade on 1st April, 2022. Following waq
the expenditure on a contract for

39,00,000 :
st @i, 2022 © 92 iRt SR afegim
2 AR SIS B | 99T BT 9,00,000

, Ly R T R U o
Materiél issued (717 &y 1515) R 1,44,000
Plant issued (T@ife R | | -~ 30,000
Wages in,clir_red (‘S@'ﬁ) il .1,48,000-

- Other expenses. incurred (SFI<) J<0) 30,000

Cash received on account of 31st
March, 2023 amounted to ¥ 4,00,000;

~ being 80% of the work certified. Of the

- Plant and Materials charged to contract,

- Plant which cost ¥ 6,000 and Materials

| 'Wh_ichl cost 25,000 were lost. On 31st

~ ‘March, 2023 Plant cost 4,000 was
returned  to stores, the cost of work
done but uncertified was 2 Q0,000.and

‘materials costing 2 4,600 were in hand
on site.
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Charge 15% depreciation on plant and
prepare Contract Account.

31 W5, 2023F 80% 4 2l @ 2je
f=11ts 4,00,000 7% Bl Zpiere 2 w07 |
5! f2pioR Yo T@iIfST 6,000 T <5
TS e 5,000 T 39 2wy o 77 |
31 5, 2023 4,000 Tl IR TGS @Hraita
T2 Rl 2, 20,000 TP Sl el
W% 4,600 TF IR SANET IR FIRRAE
g AT T |

JANET 8911 15% TT© S 211?13 R
fepist o 11

(f) ~ Briefly describe. the need for and

procedure for integration of Cost
Accounting and Financial Accounting.
5+5=10
Tl Y fRpivel i e Rpioieset kzes
ACAGIT! B 2T PRI 50 3671 71 |

(g9 (1) What is allocation and

apportionment of overheads ?

BoifEs 9 357 O ForeE W B
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(ii) 4A company has four departments.
‘The actual cdst for the period are
given below. Apportion the cost to
the various departments by using

the most equitable method—
~ 2+48=10

<! RIS 1R fKelol | <5t RS sF
4FS A OIS il el | DR @R
Rt omfs agR s /s Revr

iere 7 [Ketew F_qP—
| (i)fﬁﬁ
Rent (W) e | S | rS,dOO
Dgpreéiatioh (oY) - .. ‘4,80,0
Supe’ﬁrisiori (ﬁ%‘é‘ﬂ) " g 9,000

Employer’s Liabilit‘y Insurance = 900
 (FMORE @)

Insurance (W) ' 3,000
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The following data arc also available in
respect of four departments :

oo Tl sAEE Fetsi@E @5 Gies ¢

~ Particulars A -| B C D

Area (sq. feet) 50 40 30 | 30
Fife (79 F5) '
Number of Workers | 24 | 16 12 8
FHIRE T
Value of Plant (in %) | 12,000 {9,000 | 6,000 | 3,000

| TS o (G)

| Total Wages (3) 4,000 |3,000 |2,000 | 1,000

Value of Stock () 15,000 {9,000 | 6,000 | -

| g AR T G)

(h) A manufacturing company disclosed a
net loss of 2 2,91,000 as per their cost
accounts for the year ended on March

"31st, 2023. The following information
was revealed as a result of scrutiny of
 the figures of both the sets of books.
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31 W6, 2023 © GG GAWTTER Srujirs
2,91,000 B3I I CFUTGIA (SETHT et
Iy fepreree @ 0 | yealdl a8l woam
S TR oiwe o ST 2wt

T 8 _
. (%) o=t
Factory overhead over absorbed ol - 8,000
A Tl W ok ol
Administrative overhead underabsorbed 12,000
I BoiRe R T (e ‘ |
Depreciation charged in financial accounts % 1,10,000
Rt fRptere we <9 | 8
~ Depreciation charged in cost accounts - ' 1,22,000
BT S R5loS R 4 ~ SR
Income tax provided : TR 75,000
" .. Interest on loans fund in financial accounts 1,34,000
el ol s 9 eoive o TR
Interest on investments not included in cost accounts 32,000
. Bl T Rl e Wl ReR eme
. Transfer fees (Credit in financial books) - ¥8,000
S @ (Kl 2o @fon) ’
- Stores adjustment (Credit in financial books) 34000
- o e (Rl Jgte @ fen) i,

- Prepare a ‘Reconciliation Statement
from the above ;infor’mat_ion. \
SAIG ST 211 Q2 AP RS ergs
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